Math 1497 - Calculus 11
Sample Test 2

1. Do the following converge (explain)?
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2. Determine whether the following series converge absolutely, conditionally or diverge

S e N L e
Lot By 5w
- (D" o (D" o (D)™
1;2”+3”' ng:lnz—i—l' ng:l n+1’

3. Determine the interval of convergence of the following
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4. Calculate the n'" degree Taylor polynomial with remainder for the following. Expand
about the point c

(i) f(x)=¢€*, ¢c=0 n=2 (ii) f(x) =sinx c:g, n=+4
(iii) f(x)=In(x+1), c=0, n=3 (iv) f(x)zzix, 0, n=3



